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Chapter 1 The Nature of Economics
1.1 What is Economics
A. Unlimited Wants

Wants are human desires for good and services. It focus on the willingness but not the actual ability of obtaining them. Wants are unlimited, we always prefer more to less of the thing we desire. 

B. Scarcity

Wants are unlimited but goods are not. We live in a world that resources are limited. Some resources are goods itself, and some are used in production of goods. With limited resources, production of a good implies that we cannot produce another. 

Scarcity arises when then quantity of goods is insufficient to satisfy our wants. It is a relative concept. The supply of air is more or less fixed, but it can fully satisfy our wants in normal situations. Scarcity does not happen in this case.
C. Choices

As there is scarcity, not all our wants could be satisfied. We have to give up something. This decision is called Choice in Economics. We have to make a lot of choices everyday, deciding which want to satisfy and which to give up.
D. What is Economics?

Economics is the study of how men allocate the limited resources to satisfy their unlimited wants.

The study of Economics could be divided into two branches:  Microeconomics is the study of individuals’ consumption and production behaviour. 

Macroeconomics is the study of the economy as a whole. We study how total product is determined and how it would be changed.

1.2 Opportunity Cost

A. What is Opportunity Cost?

In making choice, we give up other alternatives. Economists define what we have given up as cost or opportunity cost. Opportunity cost is defined as the highest valued option forgone.

To illustrate the idea, let’s assume you have a fixed amount of resources that could do different things, but only one of them. You ranked your preference and choose the one you like it the most (note: Economists assume people are rational), the opportunity cost of this choice is the good that you like second best, which is the highest valued option not chosen.

B. Only the Highest-valued Option Forgone is the Cost

It has to be emphasized that only the highest-valued option forgone is the cost, but not the whole basket of options forgone. You could only use that fixed amount of resources to do only one thing on your list of preference, hence the cost of your choice is the highest-valued use of that resources which has been given up.
C. Opportunity Cost refers to the Full Cost of a Decision

It is a common mistake to consider only the explicit cost involved. If you use a hundred dollar to buy a book instead of watching movie with your friends, the cost is not only money that you could use to watch the movie, but also the opportunity to meet with friends in watching movie. This is the implicit cost of the choice. 
D. We always choose the option with the lowest opportunity cost

Economics assume people are maximizers. In choosing the option with the lowest opportunity cost, cost is minimized and return would be maximized.
E. When will opportunity cost change?

Opportunity cost will change if and only if the highest-valued option forgone changes. Changes in other alternatives, which are not considered as cost, is not relevant in anyway; while the change in quality of the option chosen would only affect the value of the choice, but not the cost of it.

F. Cost to society and cost to individual

Sometimes our decision may affect the society as a whole. The cost of an action to an individual or an individual organization tends to be smaller than the cost to the society. For example, a factory would probably pollute the environment nearby but the firm might bear no cost of it. It is only the society that suffers, that is the cost to the society of an individual’s decision.

1.3 Goods

A. Economic Goods
An economic good is a good whose quantity available is insufficient to satisfy all our wants, and it has an opportunity cost. It is also called scarce good. People prefer more of it to less.
B. Free Goods

A free good is a good whose quantity available is sufficient to satisfy all our wants. As its wants are satisfied, no one would prefer more of it, even at zero price. Hence it has no opportunity cost.
However, not everything free of charge is free goods. Many public services are free of charge because the government has born the cost herself.
1.4 Three Basic Economic Problems

A. What are the Three Basic Economic Problems?

With limited resources, people have to decide how to make use of resources effectively. Economists classify these decisions into three basic economic problems.

What to produce: we have to decide what to produce and what to give up
How to produce: we have to choose among different methods or combination of factors of production to produce
For whom to produce: we have to decide who could get the good and who could not according to some criteria. 
B. How are the problems tackled in different societies?

Different economies have different strategy in solving the above problems.

In a traditional economy, customs and traditions decide how to tackle economic problems.

In a planned economy (command economy), all decisions are made by a central authority.

In a market economy, all decisions are made by the market, which consists of a group of producers and consumers making decisions on their own. The distribution and allocation of resources are determined by the market price.

In real life, it is hard to find a pure economy of the types above, but a mixture of them. We called it as a mixed economy

1.5 Basic Circular Flow
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A. The two main sectors of an economy
Firms are units of production. They are responsible for making production decisions. 
Households are units of consumption. They are responsible for making consumption decisions.

B. Real flow and money flow

Real flow is the flow of goods and services. Firms produce goods that are consumed by households and in return, households provide factor services that are employed by firms in production.

Money flow is the flow of money. Households pay for the goods consumed and Firms pay for the factor services employed.

Real flow and money flow go in opposite directions.

Discussion Questions

1. Peter drinks two cups of coffee today and feels not wanting more. Can we say that Peter’s wants for coffee is limited?

2. A millionaire is so rich that he could buy everything he wants. Does it mean that the millionaire do not face the problem of scarcity?

3. Albert likes to play basketball very much. Although there would be a test tomorrow, he still goes to play basketball. Can you explain his behaviour with Economics?

4. John went to play soccer with his friends yesterday. Unfortunately, it suddenly rains when they arrived at the pitch. Did it affect the opportunity cost of John’s decision?
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